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	Comment No.
	Para/Line No.
	Proposed new text
	Reason
	Accepted
	Accepted, but modified as follows
	Rejected
	Reason for modification/rejection

	1

	Para 2.24 page 6, line 3
	…..,using the deterministic and probabilistic approach 
	Safety analysis is performed with both deterministic and probabilistic approach

	
	
	
	

	2 
	Para 2.25
	(a) The operating state ( e.g. , the thermal – hydraulic conditions , the power level at partial and full load , fuel burnup  and xenon transient) 
	Power level at subcritical is not common used with power reactor and fuel burn up is also parameter in operating state.
	
	
	
	

	3
	Para 2.26
	….. will threaten the integrity  of the pressure vessel and containment and therefore it should also evaluated.
	Hydrogen generations threaten both pressure vessel and containment  and precautions should be taken for both two components. 
	
	
	
	

	4
	Para 3.64, line 2  page 21
	……..so that theses devices and instrumentation are accurately and cannot be moved by inadvertent operator actions,
	The word “ the “ should be deleted.
	
	
	
	

	5
	Para 3.81 page 24
	The design should ensure the necessary independence from plant processes and control and protection systems
	The protection systems should be separated from control systems as you explained at para 3.96 
	
	
	
	

	6
	Para 3.101 page 28
	The meaning of the first sentence of para 3.101 is not clear could you express it in easy way. 
	
	
	
	
	

	7
	Para 3.126 page 32
	……to ensure that nuclear design limits ( for both the initial and subsequent reload cores ) and fuel design limits are met …..
	The word of that is doubled 
	
	
	
	


